(0 @) (rad)
o(d cot(v))

5

T LI IIII!'_‘

1072 L R £ S
3 i T
1073 e L L
F ++++§ :
- : +
° JRY ) e—— o bbbl 4
T T r g : 1
nd nd L
1_— ----- B R R
: 0.95L :
10 1 107 1

2 3 2 3
TPlpg)T (PCA t%obeamlinélf) TPlpoT (PCA t%obeamliné[f)

—s=— DQM_V0001_R000000001__Global__mkFit_CANDFINAL100stable
—— DQM_V0001_R000000001__Global__mkFit_CANDFINAL100stable2

= -
= IS e S
5] (5]
5 S T R R
-~ - R

< -
5107 o
s 5
o]

010:’% b 1 el 1 cahudl L
5 s
1 @ [
1_— ----- T
: : 0.9 i :
1 2 3 -1 2 3
10 ! TP]'O PCA tloobeamline 10 ! TPlpg) PCA t]éobeamline
P, B
n=
E_ e
D_)—
o
5
1071

—1 ; I : 2 3
10 1 TPlpg)T (PCA t%)obeamlin%)o



	Contents
	Page 1


